Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
4,415 x 1000 = 10,638 x 10 =
4,112 x 10 = 5,793 x 10 =
8,529 x 1000 = 4,43 x 100 =
9, 883 x 1000 = 1,045 x 10 =
5,106 x 1000 = 6,007 x 1000 =
5,15x10= 7,866 x 1000 =
2,66 x 1000 = 2,545 x 100 =
3,39 x10= 2,046 x 10 =
2,748 x 100 = 10,724 x 100 =
8, 536 x 1000 = 1,891 x 10 =
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Moltiplica i decimali per 10,100,1000

4,415 x 1000 = 4415

4,112 x10=41.12

8,529 x 1000 = 8529

9, 883 x 1000 = 9883

5,106 x 1000 = 5106

5,15x10=51.5

2,66 x 1000 = 2660

3,39 x10=133.9

2,748 x 100 = 274.8

8,536 x 1000 = 8536

Data: Punteggio:

10,638 x 10 = 106.38

5,793 x 10 = 57.93

4,43 x 100 = 443

1,045 x 10 = 10.45

6, 007 x 1000 = 6007

7,866 x 1000 = 7866

2,545 x 100 = 254.5

2,046 x 10 = 20.46

10,724 x 100 = 1072.4

1,891 x 10 =18.91
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